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 df]6/af6f] tkm{         
qm=;= of]hgfsf] gfd :yfg cg'dflgt nfut ufpFkflnsf 

:t/Lo 

  

1 r/r/] d/fdsf]6 df]=jf jf8 g+ % 1100000   

2 r/r/] sf]N8fF8f lulhgrf}/ af6f] jf8 g+ % 1000000   

3 r/r/] 3'3f/5fk s;]lg dfl8 df]=jf jf8 g+ % 200000   

4 s]/fjfl/ kf6n df]=jf jf8 g+ % 300000   

5 8'd|] yfg8fF8f emD;] df]=jf jf8 g+ % 600000   

6 jf]u/ hfj'l8 df]=jf jf8 g+ % 100000   

7 ;Tojlt kb dfu{ rf}lj;dfO{n jf8 g+ % 100000   

 hDdf   3400000     
  vfg]kfgL tkm{         
qm=;= of]hgfsf] gfd :yfg cg'dflgt nfut ufpFkflnsf 

:t/Lo 

 

1 lxpb]vf]nf rf}lj;dfO{n vfg]kfgL jf8 g+ % 300000 

  2 
s]/fjfl/ vfg]kfgL jf8 g+ % 

35000 

  3 
gofF ufFp vfg]kfgL jf8 g+ % 

70000 

  4 
vdfp/] l;dn[ rfkbL vfg]kfgL jf8 g+ % 

440000 

  5 
l;/leSbL vfg]kfgL jf8 g+ % 

4350000 

  6 
lrplb vfg]kfgL jf8 g+ % 

100000 

  7 
d/fdsf]6 vfg]kfgL jf8 g+ % 

150000   
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8 
emfS;] vfg]kfgL jf8 g+ % 

80000   

9 
l;:g] vfg]kfgL jf8 g+ % 

200000   

 
hDdf 

 181000     

  l;+rfO{ ljsf; tkm{ 
       

qm=;= of]hgfsf] gfd :yfg cg'dflgt nfut ufpFkflnsf 

:t/Lo 

 

1 sf]N8fF8f l;+rfO{ jf8 g+ % 100000   

  hDdf   100000     
  ljB'lts/0f tkm{   

 

    
qm=;= of]hgfsf] gfd :yfg cg'dflgt nfut ufpFkflnsf 

:t/Lo 

 

1 ;fd'bflos laB't lj:tf/ jf8 g+ % 300000     

2 nB' hn laB't lj:tf/ jf8 g+ % 300000   

3 s]lGb|o ljB't nfO{g vl/b jf8 g+ % 1500000   

  hDdf   2100000     

     

  

  s[lif tyf cfo{cfh{g         
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

1 s[lif sfo{qmd jf8 g+ % 100000     

 

hDdf  100000     

 kz'kfng     
qm=;=  of]hgfsf] gfd  :yfg   cg'dflgt 

nfut 
ufpFkflnsf 

:t/Lo   

1 kz'kfng sfo{qmd jf8 g+=% 100000   

 hDdf  100000   

  t6aGwg tyf ;+/If0f   
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qm=;=  of]hgfsf] gfd  :yfg   cg'dflgt 

nfut 
ufpFkflnsf 

:t/Lo   
  hDdf   

 

    

 lzIff     
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

1 e'ldzfnf k|f=lj sDkf08 ,u]6 lgdf{0f jf8 g+ % 180000   

2 cfbz{ lg=df=lj= ejg dd{t jf8 g+ % 180000   

3 cDa/ k|f=lj ejg dd{t jf8 g+ % 50000   

4 jfnljsf; sDkfp08 jf8 g+ % 50000   

5 sNofl0f k|f=lj sDkfp08 jf8 g+ % 180000   

6 r/r/] k|f=lj dd{t jf8 g+ % 50000   

6 j'4 ljsf; df=lj= ejg dd{t jf8 g+ % 310000   

   hDdf   1000000     

 ko{6g     
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

 hDdf     

  :jf:Yo tyf ;/;kmfO{   

 

    
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

1 :jf:Yo tyf ;/;kmfO{ sfo{qmd jf8 g+ % 300000     

 hDdf  300000   

 jg jftfj/0f     
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

 hDdf     
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 o'jf tyf v]ns'b       
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

1 v]n d}bfg lgdf{0f jf8 g+ % 100000     

  hDdf   100000     

 ;+:s[lt ;+/If0f     
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

      

 hDdf  300000   

  nlIft ju{ sfo{qmd   

 

    
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

1 dlxnf ;zlQms/0f jf8 g+ % 150000     

2 
jfnjflnsf lxt ;+/If0f jf8 g+ % 

100000   

3 
o'jf v]ns'b tyf ;r]tgf sfo{qmd jf8 g+ % 

50000   

4 
blnt ju{ ;zlQms/0f jf8 g+ % 

100000   

5 
hghflt ;zlQms/0f jf8 g+ % 

100000   

6 
czQm ckfË cfocfh{g sfo{qmd jf8 g+ % 

50000   

7 
h]i7 gful/s ;Ddfg sfo{qmd jf8 g+ % 

20000   

 hDdf  570000   

 cGo ljljw sfo{qmd     
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

      

 hDdf     

 ejg      
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qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   

1 lj;'g8fF8f ;fd'bflos ejg lgdf{0f jf8 g+ % 400000   
 hDdf  400000   

 DoflrË     
qm=;=  of]hgfsf] gfd  :yfg  cg'dflgt nfut ufpFkflnsf 

:t/Lo   
      

 s'n hDdf 
 1 s/f]*     

 


